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10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carryfwo marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(Tii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.

10.
11.
12.
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Public Administration
Paper III

THRYIITTET
gyAutsreRt 111

Time Allowed : 2% Hours] [Maximum Marks : 150

Note : This paper contains Seventy Five (75) multiple choice questions, each
carrying Two (2) marks. Attempt All questions.

AT ¢ A YIRS TR Uelger (75) dguall U9 fooel ST Iosh Ueell & (2)
0 . W Y gre.

o e

1. Administration is “the direction, | 1, YmEA 3™ =Afagr fAfv=a sE9 U<

coordination and control of many FOTETS! RO TmeaRT ST Feso
)

persons to achieve some purpose.”

foran o
This is attributed to :
(A) Woodrow Wilson (8) g3 e
(B) Felix A. Nigro (B) e T fm
(C) L. D. White ©) T @ =
(D) Henry Fayol D) ¥ B

2. Division of administration as public | 2. gES{de 0T @IS FIMEATHENA

and private is not a matter of : faursH § Wrcital seiiel sTerid et :
(A) Convention (A) 9o
(B) Scientific classification (B) ST Ffieh ]
(C) Tradition (C) WY
(D) Practical utility (D) 9rEITeh  SUeRidl
3 [P.T.O.
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Integral approach to the study of
public administration means

including :

(A) all core activities of the state

(B) important activities of the

state

(C) all activities sequentially

(D) all activities of state

‘Administrative State’ means :

(A) state administration 1is

becoming strong

(B) the role of state is changing

(C) coverage of state services is

increasing

(D) nature of state services is

changing

clieh JTEHT=AT Ufehahd gfteehiHTd Eieiie]

M 3TeqTA GHIfOse 378 :

(A) TSI=AT §E SMYRYA et

(B) U= Heaqul ok

(C) wd s fwan

(D) TsI=A1 g foman

Y oo o1

(A) TSTIRMEA IERISTeN &Id T8

(B) T YfHehl SEed 3T

(C) T~g Qa9 &9 9ed TR

D) TF Yo @EI dcald AR
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Who said that “the distinction

between  management and

administration is misleading and

false” ?

(A) Gulick

(B) Fayol

(C) Simon

(D) Waldo

Public administration is important

in developing countries because :

(A) these are newly freed

(B) government functions are

new

(C) government organization is the

only organized structure

(D) citizen-expectations are rising

“ eI ST YA 3TaR. WHTcHeh
afor fgenm a2’ o/ HIVH e

AR ?

(A) TIfeTeR

(B) %At

(C) wIHA

(D) dee!

ATRYIEATY Agcd fahg9ial <9mHed

D HRI

(A) d ToEds A®

(B) IMEAE HE TEH AR

(C) YA T Bt ThHS THfed Wl

R

(D) A= e 9 9 o

[P.T.O.
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“New Public Administration has
resulted in the propagation of an
illusion of a paradigm shift.” Who

observed ?

(A) Dunn and Fozouni
(B) Dwight Waldo

(C) Frank Marini

(D) Fred Riggs

The pure executive form of

management reflects in :
(A) Committee pattern
(B) Functional pattern
(C) Line pattern

(D) Line and staff pattern

Delegation by trust is similar

to :

(A) General delegation
(B) Informal delegation
(C) Formal delegation

(D) Specific delegation

TS YIIAM JEY qIR HogrEl FoR

T S Ha wvi wied ?
(A) T oTfor wRrEE

(B) <@tEe @meel

(C) Wher I

D) ®s s

ST Y5 hIAUTCH el &Y @ei
Tedmed gidfafad & :
(A) Gfdt 9ga

(B) SHEicHs: U5
(C) W 9sd
(D) W A ek 954

forgamEr=a SHRd Yeudl Wieer]aR
IE 3R

(A) 9EM Yaddl

(B) 3HIg=Ifiish Yl
(C) =ik Y
(D) fagrsitera gewra

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

10.

11.

12.

Which of the following is not a

feature of coordination ?

(A) It is a dynamic process

(B) It has a common purpose

(C) It emphasises on unity of

command
(D) It is an executive responsibility

The basic principle, process and

effect of hierarchy are :

(A) Leadership, delegation,
coordination

(B) Communication, centralisation,
supervision

(C) Centralisation, communication,
leadership

(D) Delegation, coordination,
centralisation

Coordination is hampered by :
(A) Lack of administrative skill
(B) Expansion of administration
(C) Group feeling

(D) Flow of authority

10.

11.

12.

Tt e Af¥rses qH=Em
2

(A) @ T A e TR

(B) 4 Th T e aMe

(C) d 3TR¥E THAR W <d

(D) o SRR Seeer! R

YIS HAYd dcd, Tfshan Ao gore

§ AR :

(A) g, Yewdl, FH<IA

(B) WA, v, qHAE

o

(C) harenm,

A=, g

n

(D) Yedl, ST, halehil

gHIT HIMH S1ed 2id ?

(A) TIMHHE A=l HH

(B) wemEArEn fosr
(C) Wqg e
(D) G<=T Yae

[P.T.O.
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13. “The number of people directly
subordinated to one executive
should be limited.” This refers to the

principle of :
(A) Span of coordination
(B) Span of control
(C) Span of conflict
(D) Span of conduct
14. Gang plank means :

(A) Horizontal contact between
corresponding levels of various

organizations

(B) Vertical contact within same

organization

(C) Across contact between two or

more organisation
(D) Contact between two superiors

15. Which of the following does not

result from delegation ?
(A) Effective leadership
(B) Flexibility
(C) Authority

(D) Inefficiency

13.

14.

15.

AT Haifed STHRIAT Ulfest ' '—§ hImsh
Fafig e ?

(A) HH== &
(B) fr=omE &
(C) Tuu= &
(D) Hfed= &

o @
M
NTich l-TE§U|§| M

(A) Tafi= Feer=n gasaa qemeia
TR 99

(B) 99 HESAHHA oIolcdeh TUh

(C) 3 fohan & Heleameie SRR
I

(D) <F I=d QIR Hush

Teieden! Y=l IR R0 A& ?
(A) FEH g

(B) wreIferehd

(C) g«

(D) ARTIIHAT
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16.

17.

18.

Weber’s analysis of bureaucracy

had :

(A) Political perspective
(B) Sociological perspective
(C) Economic perspective
(D) Cultural perspective
Kautilya’s state is :

(A) Theocratic state

(B) Police state

(C) Paternalistic state

(D) Democratic state

Who advocated the new human

relations approach ?

(1) Chris Argyris

(2) Warren Bennis

(3) Elton Mayo

(4) Rensis Likert
Select the correct code :
(A) 1 and 3

(B) 2 and 4

(C) 3 and 4

(D) 1, 2 and 4

16.

17.

18.

[N

fagaoum=n ded

CEre | IEIETN) | E]
AR

(A) TSI aiyed
(B) HHRRISE 9iye
(C) =nfdfer wfgex

(D) Gr&pfas aRyed

hifec™ T 3R

(A) g9 T
(B) diferd =g

(C) fogea T

(D) ke T
Jorel  FaY gfteshi vl gfqurfed
el ?

(1) Tore e
(2) oA S

(8) TWeed Al

4) T o
RIRERICIECE I
(A) 1 enfor 3

(B) 2 smfur 4

(C) 3 enfur 4

D) 1, 2 3ufor 4

[P.T.O.
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19. “Politics-administration dichotomy | 19, USIHERU-YIER fgurem T 39 YHHcAh
is a misleading distinction which TR T 3 fogiqaret o =EEEETE
had become a fetish, a stereotype in ) . - -

HATd HAYAG] 3T|'FUT Hepldd Hi=dld -l
the minds of theorists and
3E; 3™ HIU W AT ?
practitioners alike,” is said by :
(A) TH. T feufs
(A) M. E. Dimock
o (B) dt. J. %hele
(B) C. J. Friedrick
(C) P. H. Appleby (C) . TH. T
(D) Dwight Waldo (D) TAEE deel

20. The title “Essential Frankfurt School | 20. ‘‘zTa=fisTd H<r®e @hel fret! T oivie
Reader” deals with : frifea ome
(A) New public administration (A) TR FITEA
(B) Public choice school (B) ki fa=m
(C) Public policy approach (C) eherifa gfteshior
(D) Critical perspective (D) JrehicHes gRyed

10
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21. According to Herzberg true | 21. g IER BRI Y0 hiomagd fHesd ?
motivation comes from : . .
(A) SFqoafRS FaY
(A) Interpersonal Relations
(B) oafren o™
(B) Personal Development
(C) = Han
(C) Job Security o
(D) Administrative Practices (D) SRTEH TR
92. “What a man can be, he must be.” | 22. ''WI™ ST I IHA, TH A A
This has a reference to : mfest "= fererran s Hawt e 2
(A) Job enrichment (A) FH TS
(B) Theory Y (B) 9 s
(C) Self-actualisation (C) scwey
(D) Democratic leadership (D) WHEAHER A
23. McGregor’s theory X and theory Y | 23. W&hiF=n W omfor o fagraren
are often presented as : A= TR S S
(A) Bureaucratic model - N
(A) TTRWMEI IT&Y
(B) System model
(B) =¥ 9Eq
(C) Game theory
(C) Be fagm
(D) Closed model and open
model (D) g 3ol gol Y&y
11 [P.T.O.
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24. Herbert Simon has described the

principles of administration as

proverbs because :

(1) They are not based upon

scientific research

(2) They are logically inconsistent

and mutually contradictory

(3) Their universal application is
upheld

(4) They are commonsense

conclusions derived from

24, TS GEHA A YIMTHH T I T80 Teed

AR—HRI

(1) o=Ifer HeieAeR o fuia e

(2) d dIfhehgsedl STET ST TER
foriefl a1

(3) =i Ifyass U= Ao

(4) M JEER ARG hotel 5hs
Ted

experience UEIRE EREESE

Select the correct code : (A) 1 3o 2
(A) 1 and 2 B) 1, 2 afT 3
B) 1, 2 and 3

(C) 2, 8 o 4
(C) 2, 3 and 4
(D) 1, 2 and 4 D) 1,2 s 4

25. To Mary Parker Follett authority, | 25. FRdE Waear Hfga vdi=n UM

as vested power, derives its true T T YR ST
basis from :

(A) =i
(A) Status
(B) Law (B)
(C) Knowledge (C) I
(D) Function (D) *H

12
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26. “If the study of comparative public
administration was not comparative

it would sound hollow” :
(A) Herbert Simon
(B) Chester Barnard
(C) Robert Dahl
(D) Fred Riggs
27. Comparative Administration is not :
(A) Applied
(B) Intellectual
(C) Culture Bound
(D) Comparative

28. The principle of Rule of Lapse is not

strictly followed in :
(A) USA

(B) UK

(C) India

(D) U.S. and U.K.

26.

27.

28.

G EIR:ERGIC N Lk S TG (G [ GO
T, R ol Gehes el 3. "’

(A) T HEEA

(B) = wHie

(C) U <a

(D) we fos

Ao JAET RS A 7
(A) SHHISH

(B) difge

(C) w&pfa fafma

(D) e icHs

A9 v H a9 haldul Ulesel
S| AR

A) 3 T T
(B) J. .
(C) Y9rd

(D) 3. wd. Infor g

13

[P.T.O.
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29.

30.

31.

The model by Riggs, which bears the
features of both agraria and

industria is called as :

(A) Agraria-Industria model
(B) A-I model

(C) Transitia model

(D) Middle range model

Who contributes more to policy

making in India ?

(A) Politicians and Bureaucracy
(B) Social groups

(C) Press and media

(D) Information technology
Diffracted society is structurally :
(A) undifferentiated

(B) highly disintegrated

(C) highly specialised

(D) semi-differentiated

29.

30.

31.

T St 3o e <rere AfvTees ST

o RES= greden WA
(A) FuH-AERTH IET

(B) T-3= 9&Y

(C) GHUUI YTEY
(D) "= & (range) WI&d

YR &R fAfdmey e Jrer o
ot ?

(A) TSTRION 3707 Arehgmet
(B) WIS F98
(C) I 3for gERHTEH

(D) wifedt To=H

WEfdd TS A AR
(A) ATyt
(B) &fa fagfed
(C) @fq forreftepd

(D) srd-fasnfea

14
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32. What is the main cause of equi- | 32. qu-HqfeH sqard q'g HIU
genetic change ?—(Riggs) s 2 (fosn) |
(A) Equal factors (A) HHT ®Zh
(B) Genetic factors (B) ST ®eH
(C) External and internal pressures (C) oy =7for faTia <ema
(D) Similar factors (D) 9U&Y TZHh
33. Construction project of Hoover | g3 g, TE. Jefiel g SH= wigol A
Dam in U.S. is development T IEaE T FR -
administration because : )
(A) T FEd iead 3T
(A) it is capital intensive
(B) 3. TH. T THh foawdld < 18
(B) U.S. is a developed country
. (C) wervft swrdgforan a5 smemda
(C) construction processes are
technobased e
(D) it is goal-oriented (D) @ feafemrers & oe
34. Weberian model of bureaucracy is | 34. 9oT=Al THWME F&U=  AT¥To
not characterised by : T
(A) Legal status (A) JenfTer T
(B) Division of work (B) M foursH
(C) Rational structures (C) diferer TS
(D) Popular participation (D) YT Tg9N
15 [P.T.O.
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35. Instruction :

Answer the following question by

using the codes given below :

Assertion (A) :

Economic development emphasizes

on cost-effectiveness

Reason (R) :

Causes of underdevelopment in

developing countries were internal.

(A) Both (A) and (R) are true and
(R) is the correct explanation

of A

(B) Both (A) and (R) are true
but (R) is not the correct

explanation of (A)
(C) (A) is true and (R) is false

(D) (A) is false but (R) is true

35. fder

NN

gy IR el foade gsharmygA

fHaer .

faamm )

e fomrm foamt sftn =ER Staee
ST,

<%RUl (R) :

foreprEsTiet S9Ia STdfaerTar Rl STaid

2.
P
(A) = (A) T (R) & SR 3T

Afr (R) § (A) = I TSR0
38

(B) a1 (A) a1for (R) ¥ SsR 3T
T (R) § (A) o 3479 TR0
Bl

(C) (A) 8 s 901 (R) & T 31

(D) (A) & 9% 9 (R) T SR 3%

16
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36.

37.

The emphasis of Sri Niketan
experiment in community

development was on :

(A) Cultural link

(B) Popular participation
(C) Use of small machines
(D) Demonstration effect

The Comparative Administration

Group emphasized on :
(1) Modernity

(2) Bureaucratic role

(3) System stability

(4) System-maintenance
Select the correct option :
(A) (1) and (4)

(B) (1) and (2)

(C) (2), (3) and (4)

(D) (1), (2) and (4)

36.

37.

[N

qreTtaek foehrard it T

AR
(A) TEH{des GaY
(B) <&dd HEYN

(C) TTeIAE STAM

(D) YrAsiish g49E

qoHTcHs Y9 9qe WX foern

(1) Yfehd

o o

(2) hEIEET it

(3) Hoem WA

(4) TN TERE
I qag fHaer
(A) (1) efor (4)
(B) (1) efur (2)
(C) (2), (3) v (4)

(D) (D), (2) AT (4)

17
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38. The success of local development | 38. <TofAss o™ I3 e \ﬂqm’ow
mainly depends upon : IO
(A) Regular financial support R e B
(B) Strong local leadership N
(B) ©REK ¥ HJcd
(C) Availability of appropriate .
technology (C) SUgH TAIARN HH
(D) Popular involvement (D) AU HEwr
39. Which of the following is not a | 39. Wicliclush! GraaeErE AT & .
feature of secretariat ? &) 3§ T o R g
(A) It is mainly concerned with the
formulation of policy T
(B) Its administrative head is (B) =1 JIMESA THE HH:
generally a generalist HE=E 3R
(C) It is primarily a line agency (C) ¥ e Y@ S
(D) It is in direct contact with the . .
N (D) O HARN YA HYhid STEA
40. Marx views bureaucracy as a closed 40. WIS WA, ARV T 9% W o,
corporation because of its : I
(A) Mysterious entity (A) TS AR
(B) Self-aggrandisement (B) 3 faer
(C) Public service (C) <k Jar
(D) Careerism (D) =aeEas g (wRaefem)
18
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41. The first state to enact the
Lokayukta Act was :

(A) Andhra Pradesh
(B) Orissa
(C) Kerala

(D) Rajasthan

42. Decentralised cadre service applies

to :

(A) All grades of Centre Secretariat

Service

(B) Central Secretariat Clerical

Service
(C) Selection Grade and Grade I

(D) Section Officer and Assistant

Grade

43. Decentralised cadre service was

introduced on the observation of :
(A) Department of Personnel

(B) Ministry of Home

(C) Estimate Committee

(D) Union Public Service Commission

41.

42.

43.

clehTgeRd hTIQT TIRd UM dfged TS

AR

(A) Y TeW
(B) 3ffian
(C) whte

(D) TSEAE

foshsird St Fel @M Bd

(a) [

(A) gF I

I Yo gd - Son

o o

4 Al

o o

el fof

(B) & &% Yol
(C) Trae goft efor qam SOt

(D) el ISR T Hergs  ooft

foehsieha Aft Tl HUTAT AAIEAR &
el ?

(A) HifHe fawm
(B) & HAE
(C) @ierSt wft
(D) &= ol Fa Em

19

[P.T.O.
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44. Match List I with List II and select
the correct answer by using the

codes below :

List I List II

(1) Executive decisions

(a) Minister

(b) Secretary (2) Group meetings

(¢) Executive head (3)

Policy decisions

(4) Advice and assist

(d) Secretariate

Codes :

(@ @ (@ @

A ® 2) 1 @

B) @ (3) 4 (D

© 2) 3) (4)

D) @ (1) (2) (3)

45. Who of the following has contributed

to the field of Development

Administration ?
(A) Henry Fayol
(B) Montegomery
(C) Frederick Herzberg

(D) Chris Argyris

44.

45.

T 1 = 11 Hii S[oael 307 Srefled
ERRIECINE R RIE I ECCIE

w1 w11
(@ vl (1) IR i
(b) W= (2) GHE 9
(¢) HEEN 9@ (3) &ru o
(d) Wfeere™ (4) 9ol ST FEE
e ¢

@ B ©© @@

Aa e @ @
B @ © @ @
< 2 @ @
D @ 1) (2) (3)

Weterden! hiont faed gemaa &
IeHE fead ?

(A) & wAA
(B) Hi=AAG

(C) Hefh st
(D) e emfift|
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46. The main weakness of field | 4o &y gomarE e S Y
administration is :
, (A) HIT=ET A9
(A) Lack of comprehensiveness
(B) Inadequate direction from (B) WATCIGR Tqara e
ministry ..
(C) He™eh WA 9Td
(C) Lack of support structure
(D) Lack of public awareness (D) i ST S
47. Who initiated the ‘Tenure System’ | 47. 19 WeeTeraT HreieTae e il
in Central Secretariat ? & hell ?
(A) Lord Ripon (A) @€ o=
(B) Lord Curzon (B) <€ wgiA
(C) Lord Litton (C) wre faga
(D) Lord Wellesely (D) e dereat!
48. The functions of the Union Public | 48 w9 oo Tar A= Sald v fodr
Service Commission can be extended .
by :
(A) TS
(A) President
(B) Prime Minister (B) a0 WM
(C) Ministry of Personnel (C) whiftish HoAeT
(D) Parliament (D) T4
21 [P.T.O.

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

49. The final work of UPSC

recruitment process is :
(A) Selection

(B) Appointment

(C) Certification

(D) Placement

50.
during the period of :

(A) Jefferson
(B) Jackson
(C) Washington
(D) Adams

51.
decided by :

(A) Ministry of Personnel
(B) Ministry of Home Affairs
(C) Union Public

Commission

in

In US the “spoils system” began

Posting of an IAS probationer is

Service

(D) Chief Secretary of the State

52.

Preparation of budget is the

responsibility of the Department

of :

(A) Revenue

(B) Expenditure
(C) Economic affairs

(D) Budget

49.

50.

51.

52.

sifm =/l o/
(A) fas

(B) frgerit

(C) ymford

(D) SRt

SR ©A Tgdre gead <A1 el
ELS I

(A) ST

(B) St

(C) siff¥rres

(D) 3femy

3E. T 9. SUSARMET FHU hIoMgR
fft=a el 9 :

(A) FHIfHer HIATT

(B) & HACH
(C) 99 e Har N

(D) TSN q&A Hiwd

FSTSIYSToh TR HIUIATH] STeTeER] hiuTe

faammr=i e ?
(A) T

(B) =

(C) e =eRr

(D) SASNITAH
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53. Right to Information (RTI) is a | 53. Wifdel 3R (RTID) Hiomd 9ded
means of : IR ?
(A) Economic Growth (A) =Tt ISt
(B) Quality Approach (B) T[Urel gfteehid
(C) Protection of Rights (C) TFh TR&IT
(D) Transparency (D) ARSIk
54. “Financial administration is at the | 54, ‘‘foxita w9mEa  suyfae  wmeATn
core of modern government.” This U M SR fawm woh
statement is made by : TS e 2
(A) Hoover Commission
(A) I 3TN
(B) Finance Committee
(B) fo M
(C) Fulton Commission
(C) Tpeed iy
(D) Administrative Reforms
Commission (D) wRmEfTH FoR Wi
55. Which of the following articles | 55. AN Heehi=l & GI&T IO HetHl
provides security of job to civil TR Y el 3R ?
servants ?
(A) 310
(A) 310
(B) 311
(B) 311
C) 312
(©) 312 ©
(D) 313 (D) 313
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56. Assertion (A) and Reason (R)

57.

pattern.

Answer the following questions by
using the codes given below :
Assertion (A) :

The budget should be prepared on
the basis of revised estimates.
Reason (R) :

It makes the parliamentary control
over public expenditure meaningful.
Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation of (A)
Both (A) and (R) are true but
(R) is not a correct explanation
of (A)

(A) is true but (R) is false
(A) is false but (R) is true
Applied

(B)

©)
(D)
In

Social Sciences

Research :

(A) Establishes a relationship
between variables

(B) Rejects or supports the existing

theories

(C) Measures the effectiveness of a

programme

(D) Is often interdisciplinary

56. foum (A) 0T RO (R) THA

57.

NN

g ST el fooiedn Fshamyd

IREEIEE

faam (A) :

G STRTSI= STMERIER STeTSTI TaR

EIERICH

ROl (R) :

T el ATl qHed HIsomgR

SRECECECRE

Hehdleh

(A) <= (A) 370 (R) © SIsR 21 A1for
R) T (A) 3 I TR AT

(B) T (A) #for (R) & SRR 31Rd
T (R) § (A) = A TEIHI0T Tl

(C) (A) 8 SR & 771 (R) B I
R

(D) (A) T 9% 3T 901 (R) T SR
R

TSR IMSHES SUAifSTd LT 219
AR
(A) TIAHH ey gEfud o

(B) fommm fag@amm a=ar <o foen
BIEIR]

(C) HIERHTAT JHE AT HI0l

(D) q Afer JHTONG AR 3T9d
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58. The field study method like survey | 5g sty ayeorgq g, Terr UGt
method : -
(A) Is representative of all )
subgroups (A) 1 HA& ST i ST
(B) Presents a detailed picture of (B) WIS sTadee fosga faaxm
social interrelationship T A
(C) Produce.s findings  for (©) & ThaFEE T TEE F
hypothesis
(D) Has a large universe (D) = AP & FTH ST
59. The primary source of data collection | 59. d2¥ HhoHE URIYF Hid 37T :
18 :
(A) Observation (A) FRem
(B) Diaries (B) A
(C) Memoires ©) :
(D) Letters
60. Tabulation is : (D) W
(A) Presentation of data in rows and 60. HRUR T
columns (A) T @ 1107 THITHED HIGLHT0T
(B) Coding of data (B) deAi wfegdter
(C) Collection of data (C) A& WU
(D) Classification of respondents (D) ITEA FIHT
61. Representative local government in | 61. ¥Ramed Yfafafees e smeq o1% -
India is : (A) Ufqeras are
(A) A Historic legacy .
, (B) %9 Sl
(B) A French creation
(C) A British legacy ©
(D) An ancient existence (D) 9T Sfec
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62.

63.

The focus of Mayo Resolution (1870)

was on :
(A) Resource mobilization

(B) Local association

(C) Relief work

(D) Associating elite people
Assertion (A) and Reason (R)
pattern.

Answer the following questions by

using the codes given below :
Assertion (A) :

British rule was a decentralized

rule.
Reason (R) :
The office of the District Collector

represents centralisation.

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

62.

63.

1870 = WA YEIETE WAl U
‘Eﬁ?ﬂ :
(A) GEEATE STEHE

(B) Tenfaer Hor=an
(C) Hed &
(D) SIS Hgan

faum (A) & RO (R) 91 Y9

SN

S el foeiean Fehamed faer .
faam (A) :

o) N

[eh LUl

EIRIERIE]

HTAE IS

(A) I (A) aTfor (R) § SR 3T
A (R) & (A) 9 4T TRt
3

(B) 3 (A) a1for (R) ¥ SsR 3T
™ (R) T (A) ¥ I TR
Bl

(C) (A) 8 s 901 (R) & T 31
(D) (A) & 9% 9 (R) T SR 3%
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64. Assertion (A) and Reason (R)

Pattern.

Answer the following questions by

using the codes given below :

Assertion (A) :

The formal role of collector is

declining in modern times.

Reason (R) :

Local representatives have direct

contact with state administration.

(A) Both (A) and (R) are true and

(R) is correct explanation of (A)

(B) Both (A) and (R) are true but
(R) is not a correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

64. fagm (A) for RO (R) THAT 9L

W el foeiean Fehamed faer .

faamm ) :

e e TSeRifaenT=ar= Sf=iish
fierT w1 3 ST

%rRuT (R) :

T gfafei=n TSoRmEART 92 996
a3

(A) SR (A) 3T (R) & R 318
A (R) & (A) 9 97T TR0l
3

(B) = (A) 31 (R) & SHeR 3T
™ (R) T (A) o g TIh00
Bl

(C) (A) @ WK 997 (R) T Toh 3T

D) (A) T I 901 (R) T SR 318
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65. The concept of Mandal Panchayat
to the ‘Firka’

development experiment carried

comes close
in :

(A) Maharashtra
(B) Tamil Nadu
(C) Punjab

(D) Bihar

66. Constitutional status to local

government means :

(@) Integration with the

constitution

)

Independence from the state

administration

(¢) Structural need

changes

constitutional amendment

(d) Integration with the system of

governance

Select the correct answer from the

codes :

Codes :

(A) (@) and (d)

(B) (@) and (c)

(C) (@), (b) and (d)
D) (a), (c) and (d)

65.

66.

Hed TaEdEt e it faom

ST TSI AT Sees a2

(A) HERTSG
(B) AT
(C) 9
(D) ferr

e I gaunHeh gsien o7ef
AR

(@) GfauTEed ThishLo

(b) TAILMHAINGA A

(c) TTEHS IREATS! Wiae™ goedt

SIEERED

(d) I FIY Fiod TehIhi
Tehdemyd 9rg @ e
Hehdich

(A) (a) 3T (d)

(B) (a) 0T (c)

(C) (a), (b) & (d)

D) (a), (c) 3O (d)
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67.

of the

73rd Constitutional Amendement

Voluntary provisions

are :

(@) Make reservation for OBC

(b) Authorising Panchayats to

prepare plans

(c)

Conferring financial powers to

Panchayats

(d) Setting up of a State Election

Commission

Select the correct answer from the

codes :

Codes :

(A) (a), (b) and (c)
(B) (d) and (c)

(C) (b), (c) and (d)
(D) (a) and (c)

67.

731 Hfaym ge stfafamme s

JEgE R
(@) SNSN.E. e IR&u <0

(b) A A el d=madi SR
<0

~

qerad fafaa e 20

(c)
(d) T TEe M= T S
ThdwMeyd arg b Heer
Hehdich

(A) (a), (b) (0 (c)

(B) (d) = (c)

(C©) (b), (c) =W (d)

D) (@) = (c)

68. The present social welfare strategy | 68. IAAE HIHISH  HTATomE] SR
is : R
(A) Protective (A) TIIUMCHS
(B) Curative (B) GYRUMcHh
(C) Developmental (C) forenrarcHsh
(D) Rehabilitative (D) AR
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69. When was Central Social Welfare | 69. ald HHIS A0 Hecoldl TATIT shegl
Board established ? ELS T
(A) 1952 (A) 1952
(B) 1953 (B) 1953
(C) 1955 (C) 1955
(D) 1957 (D) 1957
70. “The state is everywhere, it leaves | 70- = U3 3 T e, d Sl & Rem
hardly a gap.” This statement gred ARl foem a1 Heheqnnit wee
explain the concept of : KRl
(A) Democratic state (A) ThTME T
(B) Federal state (B) &9 T
(C) Welfare state (C) HeAEhRT T
(D) Entrepreneural state (D) ISR T
71. Who initiated the disinvestment | 71. RaWd f{daus &iRomen gRY ol
policy in India ? el ?
(A) Arun Shourie (A) er&u 9
(B) Manmohan Singh (B) #HHiEA &
(C) P. Chidambaram (C) . fegem
(D) P. V. Narsimharao (D) 9. =&t e
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72. The concept of joint sector was | 72. ¥ AT Hehoddl AT HRUM F¥d
introduced to : A -
(A) Reduce concentration of (A) oTifefer VTet=a1 hSIsh U HHI
economic power FHLO
(B) Speed up industrialization (B) iEifiercomen wiaEm o
(C) Develop cottage industries (C) HER S foenfaa w0
(D) Increase employment (D) ASFINHE Fgt 0
73. The Maharatna Status Empowers | 73 merey o=t favme Si€9 ©iier SEmT 1
o G Pl Bt 0| s o et st 3
(A) 5000 crores (4) 5000 HT=
(B) 3000 crores (B) 3000 Fe
(C) 2000 crores (C) 2000 +Ts
(D) 1000 crores (D) 1000 e
74. What is disinvestment ? 74, fr{dauE wUS w1 ?
(A) Process of modernisation (A) snyFepIRToTE giE
(B) More investment (B) e T
(C) Less investment )
(D) Selling out public sector (©) i T
industries to private sector (D) HreSIf-eh ST @IS &l fashor
75. The maximum labour oriented | 75. WRAW SIEfd SR HSUTIHE S
industries in India are : 3T
(A) Cement (A) Tade
(B) Textiles (B) ™
(C) Iron and Steel (C) @rErs smfr =i
(D) Jute (D) %<
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ROUGH WORK
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